Pg. 194-195 #2, 5-19 odd, 20, 23, 25, 27, 29

2. no; The order of the quantities is
important. Two apples for every
3 oranges is not the same as 3 apples
for every
2 oranges.

5. Seats

Fans

7. 6to4,orb6:4; Forevery
6 basketballs, there are
4 soccer balls.

9. 3to7,0r3:7; Forevery
3 shirts, there are 7 pants.

11. 8to 15, 0r8:15; 8 out of
15 movies are comedies.

13. 15to 3, or 15: 3; Out of
15 movies, 3 are dramas.

15. 9h
17. 12:16

19. 6 black pieces; The ratio of black to
redis 3:5,soeachpartis 16 ~ 8 =
2. So, there are 3 « 2 = 6 black pieces
and 5 « 2 = 10 red pieces.

20. 8; The ratio of boys to girlsis5:7, so
each partis 48 = 12 = 4. So, there are
5«4 =20boysand 7 - 4 = 28 girls.



23.

25.
27.
29.

4 pints of soda water, 8 pints of fruit punch
concentrate, 20 pints of ginger ale; Yes; Sample
answer: There is twice as much fruit punch as
soda water (as in the original ratio). There is

5 times as much ginger ale as soda water (as in
the original ratio).

4.6
2.53
B



Pg. 201-203 #5-25 odd AND
Pg. 208-209 #1, 2, 5-10, 12, 15-21 odd, 24

5. The ratio of ladybugs to bees can be
described by 12:4,6:2,0r3:1.

7. | Violins | 8 24
Cellos 3 9
8:3and 24:9

9.

Burgers 3 6 9
Hotdogs | 5 | 10 | 1

3:5,6:10,and9:15

-

. Forks | 16 | 8 | 48
Spoons | 10 5 | 30

16:10,8:5,and 48 : 30

13. | vou 316|912
Friend | 4 | 8 | 12| 16
16 tickets

15. | First 100 | 10 | 60
Second | 60 6 36

$60

17. Adding the same number, 5 in this case, to each
part of the ratio does not create equivalent ratios.
You can add corresponding parts of equivalent
ratios to create new equivalent ratios.

Sample answer: A 3 6

B 7 14 21

19. 28 basketballs



21.

23.

25.

10.
12.
15.
17.
19.
21.

Add the corresponding quantities of
Recipes B and D to create Recipe E.

Subtract the corresponding quantities of
Recipe B from Recipe C to create Recipe A.

Sample answer: Add the corresponding
quantities of Recipes B and F to create a batch
with 11 servings.

Sample answer: You walk at a rate of
2 blocks per minute, so you walk 12
blocks in 6 minutes.

What is the cost per dozen bagels?;
$15; $1.25

Sample answer: 4 inches for every 12
years

Sample answer: 150 gallons for every
25 seconds

$7 per week

6 necklaces per hour
45 miles per hour

19 students per class
110 calories per serving
100 times per second
$20

equivalent

not equivalent



24. a. $112.50

b. Dollars
0 30 &0 an 120 150
-
T
0 4 3 12 16 20
Sun visors

$120



Pg. 214-215 #3-11 all, 15, 19-22
3. A

O 0 N oA
s I w v B = B R~ v v

10.
11. the first recipe

15. See Taking Math Deeper.
19. 16

20. 18 R26

21. 34 R109

Pg. 217 #1-13 all



10.
11.
12.

. 3to 2, or3:2; For every 3 tulips, there

are 2 lilies.

8 to 4, or 8: 4; For every 8 crayons,
there are 4 markers.

Shoes 7 | 28 | 49

Boots 2 4 14

7:2,28:4,and 49 : 14

Trains 3 12 | 18

Airplanes | 8 | 32 | 48

3:8,12:32,and 18:48

Sample answer: 20 liters for every 6
minutes

Sample answer: 15 tickets for every 60
points

2 touchdowns per game

3 text messages per minute
20 entries per contest

3 questions per minute

$60

24-fluid-ounce shampoo; Sample
answer: Because $0.20 is less than
$0.22, the 24-fluid-ounce shampoo is
the better buy.



13. a. 17to 16, 0r 17: 16; For every 17
Celtics championships, there are
16 Lakers championships.

b. 3to4, or 3:4; For every 3 Pistons
championships, there are 4 Spurs
championships.

¢. 61016, 0r6:16; For every 6 Bulls
championships, there are 16
Lakers championships.



Pg. 610- 611 #2, 5-21 odd, 26, 29, 31 *23

2. Compare the ratios in simplest form
and compare the cross products.

5. yes
7. no
9. ves
11. no
13. no
15. yes
17. no
19. ves

21. yes; Both can do 45 sit-ups per
minute.

26. a. $7 per hour
b. $9 per hour

¢. no; Your friend earns more money
per hour.

29. See Taking Math Deeper.

31. no; The ratios are not equivalent;

-
Eiﬂﬁﬁet{:.
19 20 21
23. vyes

Pg. 618-619 #2, 4-6, 9-21 odd, 22, 25



2. Find the number that when
multiplied by 5 is 15.

g X _ 40
50 100
5 X _ 78
50 100
X 80
6. — =
80 100

9 11 wWinners _ 34 winners
" 85entries 170 entries

100 meters 200 meters

xseconds  22.4 seconds
$24 ¢

3shirts 7 shirts

15. 5 7th grade swimmers _

16 swimmers
s 7th grade swimmers

80 swimmers

11.

13.

17. y=16

19. c=24

21. g=14

2. 1 trombone _ ttrombones
3 violas 9 violas

b. 3 trombones
25. See Taking Math Deeper.

Pg. 626-627 #1, 2, 5-23 odd, 32, 36



1. mental math; Multiplication Property
of Equality; Cross Products Property

2. Sample answer: mental math;
Because 3 « 2 = 6, the product of x
and 2 is 14. So, x = 7.

5. h =80
7. n=15

1
9. y—?3

11. k=5.6
13. n=10
15. d=5.76
17. m =20
19. d=15
21. k=54
23. 108 pens

32. $769.50
36. See Taking Math Deeper.

Pg. 638-639 #7-23 odd, 27, 29, 34, *26



11.

13.

15.

17.
19.

21.

23.

no; The line does not pass through
the origin.

yes; The line passes through
the origin; k = %

yes; The equation can be

written as y = kx; k = g

no; The equation cannot be written
as y = kx.

yes; The equation can be written as y = kx; k =

no; The equation cannot be written as y = kux.

Recycling
XD
16
Y 14
'=; 12 /
- |
- 1: X(20,9)
° 4 i
a ' ‘:
4 An. 4.5)—
Z |
’ -
5 10 15 20 25 30 35 40 45x
Aluminum (pounds)
yes; y = 0.45x
5 5
k= 5, Y= 5.]:
y = 2.54x

27. no

E
2



29. Every graph of direct variation is
a line; however, not all lines show
direct variation because the line must
pass through the origin.

34. D





















